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21. ILS facility located 1000 Ft from runway stop end is:
a-  glide slope b- localizer
c-  middle marker d- VOR
22. The limits of visibility apply to category Two (in Feet) is:
a- 1200 horizontal and 100 vertical
b- 700 horizontal and 000 vertical
c- 16 00 horizontal and 1000 vertical
d- 150 horizontal and 000 vertical
23.  Which of the following components represent the transmitter modulation?
a- Ecm =+ Ess b- Ess+ Ecm
c- EcmzEsm d- Ess + Esm
24.  The transmitter modulation index is define as :
a- mEss/Ec b- Ecs/Ec

c- Ess/Ec d- s Ecs /Ess
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25.

26.

27.

28.

29.

30.

31.

32.

A carrier component of 40 Watts and a total side band component of 8 Watts are
radiated from an antenna .What is the modulation factor ?

a- 0.28 b-  0.553
c- 0.712 d-  0.632

Which one of the ILS waveforms can be used to check the modulation equality
of 90Hz and 150Hz ?

a

kissing pattern
b-  space modulation pattern

C

transmitting modulation pattern

d

five finger pattern . kissing pattern
The ILS waveforms produced from the combination of 90Hz and 150Hz

sidebands, when the amplitude of 90Hz signal is larger than the amplitude of
150Hz, is called:

a-  under kissing waveform b-  over kissing waveform

c-  suppression waveform d-  distortion five finger waveform
The DDM is expressed as:

a- DDM = Mgy + M350

b- DDM = Mgy — Mjso or DDM = Mjs0 — Mg

c- DDM =2(Mg + Mis0)

d- DDM = Mg + Misp + Ecs

At a point in the space of the ILS radiation, if Ess =30£30° and, Ec=100£ 0°,
then the space modulation index is:

a- 0.259 b-  0.15

c- 0.35 d- 04

The total modulation factor of the ILS is defined as:

a- Ec + (Ecs/Ess) b- Ecs/Ec
c- Ecs+ (Ess/Ec) d- Ecs/Ess

The difference in depth of modulation (DDM) at right side of the localizer
course is:

a- M90-M150 b- M150-M90

c- M90+M150 d- m90+m150

The abnormal case of the difference in depth of modulation of ILS is equal to:
a- 2m b- 2s

c- 2mEss/Ec d- 2s Ess/ Ec
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33.  The upper limit of DDM(deference depth modulation) in the glide path is :

a- 04 b- 0.2
c- 038 d- 14
34. The cross pointer of the aircraft receiver, when it is below the glide path angle, is
deflected :
a- up b-  down
c-  on the center d- right

35. A flag condition is:
a-  toindicate that the R.F. field is sufficient
b-  to indicate that the total modulation is enough
c- torespond to DDM
d-  known as a peeping flag

36. In ILS system, if m =0.2, Ess = 10 volts, and E¢ = 20 volts, then DDM is

equal to:
a- 04 b- 0.2
c- 20 d- 40

37. The SDM on the course line of the localizer is equal to:
a- 04 b-  0.178
c-  zero d- 08

38. The V- ring antenna system of the localizer consists of:
a- 8 pairs sideband , and one carrier antenna
b- 7 pairs sideband , and one carrier antenna
c- 6 pairs carrier , and one sideband antenna
d- 8 pairs carrier , and one sideband antenna

39. The VOR course erroris:
a-  omni course minus the magnetic azimuth
b-  course index plus the magnetic azimuth
c-  magnetic azimuth minus the average course error

d- average course error plus omni course
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40. The VOR sideband and carrier antenna pair are described respectively as:
a- SIP, and SOP b-  SIP,and Omni
c- SOP,andSIP d- Directional , and Omni

320 gl gad Jual 5

41.

42.

43.

44,

45.

46.

47.

48.

Transmission media are usually categorized as

a-  fixed or unfixed b-  guided or unguided

c-  determinate or indeterminate d- metallic or nonmetallic
Transmission media lie below the layer.

a-  physical b- network

c-  transport d-  application

______ cable consists of an inner copper core and a second conducting outer
sheath.

a-  Twisted-pair b- Coaxial

c-  Fiber-optic d-  Shielded twisted-pair
In fiber optics, the signalis __ waves.

a-  light b-  radio

c- infrared d-  very low-frequency
Which of the following primarily uses guided media?

a-  cellular telephone system b- local telephone system
c-  satellite communications d-  radio broadcasting
Which of the following is not a guided medium?

a-  twisted-pair cable b-  coaxial cable

c-  fiber-optic cable d- atmosphere

What is the major factor that makes coaxial cable less susceptible to noise than
twisted-pair cable?

a-  inner conductor b-  outer conductor

c-  diameter of cable d-  insulating material
Signals with a frequency below 2 MHz use propagation.
a-  ground b-  sky

c- line-of-sight d-  none of the above
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49. Signals with a frequency between 2 MHz and 30 MHz use __ propagation.
a- ground b-  sky
c-  line-of-sight d- none of the above
50. Impedance inversion may be obtained with:

51.

52.

53.

54.

55.

56.

57.

58.

a- A half —wave line b- A quarter- wave line

c-  Short — circuited stub d-  Anopen — circuited stub

A parabolic dish antennaisa(n) __ antenna.

a-  Omnidirectional b-  Bidirectional

c-  Unidirectional d-  Horn

A(n) __ medium provides a physical conduit from one device to another.
a-  guided b- unguided

c- either (a) or (b) d- none of the above

media transport electromagnetic waves without the use of a physical
conductor.

a-  guided b- unguided
c- either (a) or (b) d- none of the above
Radio waves are
a-  Omnidirectional b- Bidirectional
c- Unidirectional d- Non of above
Microwaves are
a- omnidirectional b- Bidirectional
c- Unidirectional d- Non of above
are used for cellular phone, satellite, and wireless LAN communications.
a- Radio waves b- Microwaves
c- Infrared waves d- none of the above

are used for short-range communications such as those between a PC
and a peripheral device.

a- Radio waves b- Microwaves

c- Infrared waves d none of theaand b

A wavelength of 15mm could be expected in :
a- VHF b- HE
c- EHF d-  SHF
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59. Terrestrial T.V. broadcasting in Jordan is done in
a-  VHF bands b-  UHF bands
c-  microwave bands d-  HF bands
60. The yagi-uda antenna reflector length is equal to:
a- 045 b- A
c- A d- 0.55A\.
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81.

82.

83.

84.

85.

86.

Which type of digital modulation that suffers from the slope over load ?
a-  Pulse code modulation

b-  Pulse width modulation

c-  Delta modulation

d-  Adaptive differential pulse code modulation

The type of the following modulations that represents the principles of
analogue to digital conversion (ADC) is;:

a- PPM b- PCM

c- ASK d- QPSK

Given the message signal [ S(t) = 4 cos (47 * 10°)t ], what is the best safe
sampling rate that is needed to convert it into digital signal in accordance to
the sampling theorem ?

a- 1Ksps b- 2 Ksps

c- 4 Ksps d- 6 Ksps

Refers to OSI reference model, the data in the transport layer is called :
a-  Packets b-  segments

c- bits d-  frames

The ICMP protocol work at:

a-  Network layer b- Data link layer

c-  Presentation layer d- Application layer
One of the followings is a correct hardware address:

a- 192.168.10.5 b- H2:20:33:00:00:1F
c- 00:A0:24:49:60:5A d- AB.192.B1.11.25.FF
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87. The type of digital signaling when bit (0) is represented as [low-to-high]
voltage while bit (1) as [ high-to-low] voltage is called:

a- HDB3 b- CMI
c- Bipolar d- Manchester

88. The technique where the sample is represented in both different phase and
amplitude to reduce the bandwidth is called:

a- ASK-SC b-  QPSK
¢ FSK d- QAM

89. In TDM digital hierarchy, the number of voice channel that exit from the third
level multiplexer (E3) is:

a- 30 b- 480
c- 120 d- 1920

90. The network class that occupies the lowest number of networks is :
a- A b- B
c- C d- D

91. When a digital word is entered to VCO, the resulted waveform is
a- ASK b- PSK
c-  FSK d- QPSK

92. The valid IP address for a host in class C subnetting having the subnet mask
255.255.255.192 is:

a- 192.168.10.64 b- 192.168.10.127
c- 192.168.10.191 d- 192.168.10.62

93. If we have the subnet mask 255.255.255.224 in class C, then the number of hosts
per subnet will be :

a- 8 b- 30
c- 32 d- 224

94. The best CIDR in VLSM for the point-to-point connection over WAN to get ride of
IP addresses waste is:

a- /24 b- /30
c- /28 d- /32
95.  One of the following examples represents the simplex transmission:
a-  Television b- Yahoo messenger
c-  Wireless phone with police d- Mobile phone
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96. In which layer does CSU/DSU modem work in OSI reference model ?

97. The compression and decompression of data occurs at layer
a-  Application b- presentation
c-  Session d-  Transport
98. The most efficient sampling method in terms of transmitted power is
a- PAM b- PWM
c- Sample and Hold d- PPM

99. In TDM digital multiplexing, if four continuous wave channels of 4KHz for
each are to be the inputs for cummutator that rotates at sampling rate (8Ksps)
and then quantized and decoded by 3 bits encoder. The total digital output
rate equals to

a- 2048 Mbps b- 256 Mbps
c- 1024 Mbps d- 64 Mbps

100. The angle between points in free space representation in QPSK is
a- 180° b- 45°

c- 90° d- 22.5°
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